



Function Operations

$$f(x) = x^{2} + 3x + 2 \quad g(x) = 3x^{2} - x + 7$$

$$f(-3) = (-3)^{2} + 3(-3) + 2 \qquad (-3, 2)$$

$$(f + g)(x) = x^{2} + 3x + 2 + 3x^{2} - x + 7$$

$$= 4x^{2} + 3x + 2 + 3x^{2} - x + 7$$

$$= 4x^{2} + 3x + 9 = 15$$

$$K(x) = 3x + 2 \quad m(x) = x^{2} - 2x + 4 \quad p(x) = \frac{1}{x - 2}$$

$$(Km)(x) = (3x + 2) (x^{2} - 2x + 4)$$

$$= 3x^{3} - 6x^{2} + \frac{1}{2}x + 2x^{2} - \frac{4x}{2} + 8$$

$$(\frac{K}{7})(x) = \frac{3x + 2}{x - 4} = (3x + 3) \cdot \frac{(x - 2)}{1 - 3x^{2} - 4x - 4}$$

$$f(x) = 3x + 2 \quad g(x) = x^{2} - 2x + 1 \quad h(x) = \frac{3x^{2} + 2}{x^{2} - 1} \quad K(x) \neq \sqrt{2x + 1}$$

$$(f \circ g)(x) = 3(x^{2} - 2x + 4) + 2$$

$$= 3x^{2} - 6x + 1 + 2$$

$$= 3x^{2} - 6x + 1 + 4$$

$$= \frac{3(\sqrt{2x + 1})^{2} - 1}{\sqrt{2x + 1} + 2}$$

$$= \frac{3(\sqrt{2x + 1})^{2} - 1}{\sqrt{2x + 1} + 2}$$

$$= \frac{3(\sqrt{2x + 1})^{2} - 1}{\sqrt{2x + 1} + 2}$$

$$= \frac{6x + 3 + 2}{\sqrt{2x} + 2}$$

$$= \frac{6x + 3 + 2}{\sqrt{2x} + 2}$$

Inverse Functions If $f = \{(x, y)\}$, then f(x) = 4x + 7 $f' = \{(y, x)\}$ y = 4x + 7 $- \left\{ = \left\{ (2,3) \left(-4,7 \right) \left(1,-5 \right) \right\} \right\}$ x = 4y + 7 $f^{-1} = \left\{ (3, a) (7, -4) (-5, 1) \right\}$ $\frac{X-7}{4} = \underbrace{\underbrace{\underbrace{}}_{4}}_{4}$ D Switch the XS+ ys 2) Solve for y. $\frac{1}{X-1} = f_{-1}$ Find (fog)(x) $f(x) = 4x^2 + 9$ $4(\frac{1}{2})^{2}+9$ $X = 4y^2 + 9$ $\underline{X-9} = \underbrace{4}_{4}$ $\left(\frac{x-9}{3}\right) + 9$ $\frac{1}{\sqrt{x-9}} = f^{-1} = g$ X- x+x - X If fog = x OR gof=x than ftg are Inverses of each Other.